
Figura Área da Base Área Lateral Área Total Volume 

Triângulo 
Equilátero 

  
𝐴 =

𝑎2√3

4
 

 

Quadrado   𝐴 = 𝑎2  

Hexágono   
𝐴 = 6

𝑎2√3

4
 

 

Circunferência   𝐴 = 𝜋 ∙ 𝑟2  

Prisma Depende do 
formato 

𝐴𝐿 = 𝑛 ∙ 𝑎 ∙ ℎ 𝐴𝑇 = 2𝐴𝐵 + 𝐴𝐿 𝑉 = 𝐴𝐵 ∙ ℎ 

Pirâmide Depende do 
formato 

  
𝑉 =

𝐴𝐵 ∙ ℎ

3
 

Cilindro Área 
circunferência 

𝐴𝐿 = 2𝜋 ∙ 𝑟 ∙ ℎ 𝐴𝑇 = 2𝐴𝐵 + 𝐴𝐿 𝑉 = 𝐴𝐵 ∙ ℎ 

Cone Área 
circunferência 

𝐴𝐿 = 𝜋 ∙ 𝑟 ∙ 𝑔 

𝑔 = √𝑟2 + ℎ2 

𝐴𝑇 = 𝐴𝐵 + 𝐴𝐿 
𝑉 =

𝐴𝐵 ∙ ℎ

3
 

Esfera   𝐴 = 4𝜋 ∙ 𝑟2 
𝑉 =

4 ∙ 𝜋 ∙ 𝑟3

3
 

 


